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The figures in the margin indicate Jull marks
Jor the questions.
Answer the following questions - 1x10=10
(i) Define null set.
- e efeq we fm
(i) What is the value of log 100 ?

log 1009 39 Ry 2
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(i) What is the value of P, ?

P, 3 WA e

(iv)

il

(vi)

- R (e kel |

(vii)
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State whether the following relation is correct

or not.

woTq ROl T T W=y ol |

Lol o

What is the tenth term of the following A.P. 1‘

series ? ‘ _
ST TR Asifee 4t HTICHIE TN SCo! ﬁw
V40

Define diag'onal matrix.

Choose the correci answer
@ Teq Wafca 3 ¢

The slope of the line passing through
origin and the point (4, 3) is : 1

it

O of function of a single

¢

; )ﬁm‘ |
| [

:l

x denotes the volume of
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(9 Fill in the blank (25T 2/ @D & T 4 fx%, then find gX_
! : .

The variables associated with linear

' | " i il U
programming problems are called : : - oy A '92’(?1’ % adiy
G |
Answer the following questions : 2%5=10
O AL Ted Tl 8

@) 3 MOy = 1C,, find A SACICERE

4 , ] an saved Rs. 16,500 in ten

nCL = "C, T n T AW A = ] > ten years. In
12 8 ‘,’ 2 year after the first he saved Rs. 100
than he did in the preceding year. How

ch did he save in the first year ?
,.

(ii) Prove that (250 ¥ ()

gl o iy
log, (abc)+log,,(abc)+logciabci d i (R 72 T=© 16 SOOWW%?IW!
()VF~dh1’fh.1 ing throug ;ﬁ SR e
iii) Find the slope of the line passing throug WQF?W'W
: ; i ‘ZfQNW
the points (-3, —5) and (7, 9). 1 ﬁmﬁ PlafeET
(=3, —5) Wi (7, 9) Repmdl @39 ol

Tfeall : -3
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Or / Fiz31

Mz. X borrows Rs. 32,760 without inter
and agrees to pay back in 12 month]
instalments, each Instalment being twice th

preceding one. Find the second and the Iag
instalments. y

I

ﬁ%x«ﬂﬁmmn,%owmm 1;
Wm%@wmﬁﬁﬁmawgﬁ@
S AT o 51 =11t s oo B
1% =1 RO W o B B w1
el w1 3

() A machine depreciates €very year at the r;
of 10% of its previous value and its sc
value at the end of 4 years become
Rs. 1,31,200,. Find its original value.

%Waﬁmwmwmw w7
10% P I 4 TeT9 TS T oy 1,31,20
B 2| TGO W o By |

i naTaTTTTTTRTTTTaRTTRTTTTTTaaTT
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Or / /3¢

A borrows Rs. 20,000 from B at 3%
compound interest and agrees to pay both
the principal and the interest in 10 equal
instalments by paying at the end of ‘each
car, Find the amount of each instalment.

01]

vear. |

ould

“M41 3% berafE 2 Tew 20,000 S
- IR F 91 AfS e e 1061 s

s

- [ sjre e R Rk 1) 2 Ao

% 5piq s Bl
[0 iR ¢ Jog (1.04). = 0.0170,
Antilog (1.8300)=0.6761] _
(¢) In how many ways a team of 11 players can
be selected out of 15 if (i) one particular

player must be there in each team and

(ii) one particular player is excluded from
each team ? i

15 & (R #9111 s (wejtae we <5

%wmww%mﬁ,zﬁ(z)ﬁmﬁwmm
- elfoT! wetce R At Wi (1) o Rioes

(AL STl wora »i91 A T et ;
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y is considering which of the three
0ds of production it should use in
lucing three goods A, B and C. The

(d) Prove that (29 ¥ @)

b

1+a Tl iy of each good produced by each =
1 l+a 1 j=aea (1+-c—ll—+;l;+zg)_ 0d is shown in the following matrix : =
1 il : —
: A gl g =
Tl g1 4 8 2 =
QEL Wyl g
w3l s 2

¢ column matrix [10 4 6] represents the
fit per unit for 4, B and C in that order.

g matrix multiplication find which

thod maximizes total profit. 7

ﬁfﬂ»ﬁﬁﬁm_, SRR AN 4, B oI cv“zevﬁm
[ qlca TSRG! SletleTia (PIRICH! @lelieT ercast

s 301 5 1
Show that the matrix 4= \:_ ) 2] satlsﬁe

the foliowing matrix equation :

A2 —5A4+71=0 where 0 denotes 2 x 3 ze

matrlx

i

, 31 4 @2 fac [eonl o S| 2o e
_m@mcmmk[_l 2}61@?@ 4 %avﬁwwﬁa AT T O
mawﬂﬁaﬁ%ﬁﬁ%ml ' QTS rysal o

AR
4S54 0=0 WOMXMW . 1e o8
g@‘ml 2 |5 7

' R
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S GRS [10 4 6] @ A 4, B W @
2R G R @R A SR SIEG
CTISTRFSF) 5J°1 ST2IS PIRCH! Se eizziis) SR

blish the equation of a line in the form
e,

‘ M+ 4y T e et ey S
=% ST 29 Fefy 71 1 ,
: d the equation of the line passing through
Or / T2y B point (-

273 et having ;) equal
“ICCPLs on the axes, (11) intercepts equal
magnitude but opposite in sign, 5

Solve the following equations by Crame
rule :

(TS i <53% S Aisaelcrsn) _W(Z)XWW))WCWQ“TW,
I ¢ | VST SISy W i i e, e

15 e |

Or / 713}

he dmount demanded of g commodity IS
10 units when the price is Rs. 100 and
00 units when the price is zero. If the

d curve is assumed to be a straight
ne find its equation,

X yrbiz =3
2x+3y+4z=—]
X+2y—4z=—]

(b) In how mahy ways the letters of the wot
- ACCOUNTANTS can be arranged ?

ACCOUNTANTS B St o l

£ , . aﬁfmwmm@i’mm
ST A 14 ﬁﬁmﬂm@wwﬁmww
& i sy 1000 @ 231 | Bifewy
»kmﬁﬁmﬂﬁmqﬁﬁam
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6. (@ () It@ER) f(x):b.x:2+az a pro
‘ that (213l 341 () f(a)+ B f(a+‘

i+ Blithaihiie S "”x 1

x—0

\/1+x 1

T Nt aﬂmﬁm‘ﬂW|

x—0

Or / 733!

The total cost C of producmg % 1t
is given by : :

_ [1000+5x, when 0 < x <500
| 2000+ 4x, when 500 < x <

2 ; 3 i
he maximum value of x+— is
Show that C is dlscontmuousv X

x'='500.

its minimum value.

X T AN BeATT T3 W C o

adt x+~}; 9 Aif S A TS 37 |

C = (1000 + 5x, Caf 05 x <500

2000 +4x, CIREA 500 < x < 20

ST @ x = 500% C wffien 72|
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! 7. (a) Integrate (W M)

Find the maximum value of = 5%, +3x2
r; t to the followmg constraints :

2%, +x, <1000
% S400

[V (14 x)ax

i) [Bx2+ 5}c+1o)dx

Or / 733

If the marginal revenue function is :

2= 5x +3x,9

« R'(x)=8-6x+2x?, determine the t
revenue and demand functions. '

M AfET @ Wy T 7 ot

R(x)=8-6x—2x, mz’c&r'{és%“”r
me&mwﬁﬁwn ‘

i

(b) Define linear programming probles
i Discuss the importance and the 11m1ta
; of linear programming. . o

R g TR el 57| R @
m@mwﬁwﬁmww
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